
6. Find the values of x in the following figures: 

(a) (b) (c) 

127 A 
80° 

/60 

(d) (e) ( 
+15° 

15 48° 

2x+ 40° Áx+ 20 
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t he anglcs in a pair of suppiementary angles is acute, then what kind of angle is the other? 

9 9If one angle of a liner pair is an obtuse angle. then what kind of angle is the other? 
Sif one angle of the linear pair is a right angie, then what kind of the angle is the other 

10. Are the following angles adjacent to each other? Give reasons 
(a) (b) Q 

B 
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G)x = 80 veatucall 
opposute anq 

c + 127 18o 

I:180 -127 
53 127 

C)it G0 = q0 
q0-60° 

30 

e) 

t 65180 

5 8 X I86- 63 

e) 2+4o4X + 20 18o 
32t 60=|80 

3 = 180- 6o 

e) ) 

2xt + 20 
126 

3 

+ IS+x+180 
al+15= 80 
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Sum Supplenantan 
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